ASSEMBLY INSTRUCTION
MODEL : IQ181HB 3' HB WITH CONNECTOR

PAGE 1 OF 4 WS 181- 3" HB (930) - IQK - 190702 - 00




HARDWARE LIST
A 4PCS||B

@

4PCS| C 4 PCS

e

JCBB BOLT (M8 x 30MM) JCBB BOLT (M8 x 60MM) NYLON LOCK NUT (M8 x 13MM)
D 8 PCS||E 1PC||F 1PC
w
FLAT WASHER (M8) (5/16" X 22 X 1.2MM) ALLEN KEY (M5 x 60MM) SPANNER (12.8MM)

Do not recommend the use
of power drills/drivers for
inserting bolts/screws as this
could damage the unit.

PART LIST

o
0 o
0
o
HEADBOARD CONNECTOR
(1PC /SET) (2PCS / SET)
CARTON 1 OF 1 CARTON 1 OF 1

PAGE 2 OF 4 WS 181- 3" HB (930) - IQK - 190702 - 00



o000

STEP 1

Attach and secure Connector onto
Headboard by using (A), tighten it
up by using (E).

PAGE 3 OF 4 WS 181- 3" HB (930) - IQK - 190702 - 00



STEP 2

Attach and secure your own
Headboard onto Bed Frame by
using (B),(D) and (C). Tighten it up
by using (E) and (F).

PAGE 4 OF 4 WS 181- 3" HB (930) - IQK - 190702 - 00




